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$ cat math.info
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NAME: Jason Janes CLASS: CSC121-00x
Lab: MATH !'! Level: O
Descri ption:

This programreads two nunmbers fromthe user.
performthe four basic math operations (addition,
mul tiplication,
traditional format.

and division) on themand display the results in a

Once read in, we
subtraction,
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$ cat math.cpp

/1 include input/output streans support code
#i ncl ude <i ostreanr

/1 use identifiers (functions,
usi ng namespace std;

etc.) fromthe standard name space

/1l main program-- where it all
int mai n(voi d)

happens!

{
doubl e nunber1, nunber2; /1 two nunbers input by the user
/] greet user
cout << "Welcome to the Math Cal culation Program!!\n" << endl;
// pronpt for and read in two val ues
cout << "Please enter your two nunbers: ";
cin >> nunber1 >> nunber 2;
/1 let the user know we got their values and are working on it
cout << "Thank you!! You've entered " << nunberl
<< " and " << nunber2 << "! Calculating...\n\nDone.\n" << endl;
/1l print resulting calculations in a nice format
cout << nunberl << " + " << punber2 << " =" << (nunberl + nunber2) <<
<< nunberl << " - " << nunber2 << " = << (nunberl - nunber2) <<
<< nunberl << " * " << nunber2 << " = << (nunberl * nunber2) <<
<< nunmberl << " / " << nunber2 << " =" << (nunberl / nunber2) <<
/1 thank the user and say goodbye. ..
cout << "Thank you for using the MCP!'!\n\n"
<< "Endeavor to have a advantageous day!" << endl;
// return control to the Qperating System
return O;
}
$ CPP math
mat h. cpp***

$ ../ math. out
Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: 12 42

Thank you!! You've entered 12 and 42! Calculating...
Done.

12 + 42 = 54

12 - 42 = -30

12 * 42 = 504

12 / 42 = 0.285714

Thank you for using the MCP!!

/

endl|
endl
endl
endl ;

Endeavor to have a advantageous day!
$ ./ math. out
Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: -12 42

Thank you!! You've entered -12 and 42! Calculating...
Done.

-12 + 42 = 30

-12 - 42 = -54

-12 * 42 = -504

-12 / 42 = -0.285714

Thank you for using the MCP!!

Endeavor to have a advantageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: 12 -42

Thank you!! You've entered 12 and -42! Calculating...
Done.

12 + -42 = -30

12 - -42 = 54

12 * -42 = -504

12 / -42 = -0.285714

Thank you for using the MCP!!

Endeavor to have a advantageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: 12

42

Thank you!! You ve entered 12 and 42! Calculating...
Done.

12 + 42 = 54

12 - 42 = -30

12 * 42 = 504

12 / 42 = 0.285714

Thank you for using the MCP!!

Endeavor to have a advant ageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: -12 -42

Thank you!! You ve entered -12 and -42! Calculating...
Done

-12 + -42 = -54

-12 - -42 = 30

-12 * -42 = 504

-12 / -42 = 0.285714

Thank you for using the MCP!!

Endeavor to have a advant ageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: -42 -12

Thank you!! You ve entered -42 and -12! Calculating...
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Done.

-42 + -12 = -54
-42 - 212 = -30
-42 * .12 = 504
-42 1 -12 = 3.5

Thank you for using the MCP!!

Endeavor to have a advant ageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: 42 12

Thank you!! You' ve entered 42 and 12! Calculating...

Done.

42 + 12 = 54
42 - 12 = 30
42 * 12 = 504
42 | 12 = 3.5

Thank you for using the MCP!!

Endeavor to have a advant ageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: 0 12

Thank you!! You' ve entered 0 and 12! Calcul ating...

Done

0+ 12 = 12
0- 12 = -12
0* 12 =0
0/ 12 =0

Thank you for using the MCP!!

Endeavor to have a advant ageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: 12 0

Thank you!! You' ve entered 12 and 0! Calculating...

Done

12 + 0 = 12
12 - 0 = 12
12*0=0
12/ 0 = inf

Thank you for using the MCP!!

Endeavor to have a advant ageous day!

$ ./ math. out

Wel cone to the Math Cal cul ati on Program!!

Pl ease enter your two nunbers: -12 0

Thank you!! You' ve entered -12 and 0! Calculating...

Done.

-12 + 0 = -12
-12 - 0 = -12
-12* 0 =-0

-12/ 0 = -inf

Thank you for using the MCP!!

Endeavor to have a advant ageous day!

$ ./ math. out
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$ cat

1
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me to the Math Cal cul ation Progran!!

e enter your two nunbers: 0 0

you!! You' ve entered 0 and 0! Calculating...
=0

=0

=0

= nan

you for using the MCP!!

vor to have a advantageous day!
mat h. t pq
How many cin statenents do you need in this progran?

One. cin skips any intervening spaces and so we can read both
vari abl es values with a single cin statenent.

Shoul d the "wel cone" and the "enter" be printed fromthe sane
cout statement?

They can be, but they probably shouldn’t be. They are two separate
| ogi cal ideas and so should be two separate statenents.

What happens if the user types their nunbers on separate lines
(instead of sinply separated by spacing as above)?

That’s fine. Any spacing -- even a newline -- will do to separate
the two variables’ val ues.

Obviously if your variables for the user’s nunbers are float or double,
the division answer will have decinal places. Can you still get a
floating point answer even if you are using whole val ued variables for
the user’s nunbers?

Yes. You can use a typecast to make at |east one of themfloating
point for the duration of the division:

I ong nunber1, nunber?2;

cout << nunberl << " / " << number2 << " ="
<< ( static_cast<doubl e>(nunber1) / nunmber2 ) << endl;

How many variabl es do you need for this programat a m ni munf
Two -- one for each input.
At nost?

| couldn’t see using nore than 6. One for each input and one for
each cal cul ati on.

What happens if the user’s values are of different signs? Both
negative? |In descending order? The sanme?

Al'l of the calculations work on any pair of real nunbers -- just
like in nmathenmatics.

What happens if the user’s first value is a 0?
Everyt hing works fine when the first value is a 0.
Their second val ue?

Al'l cal culations work fine...except division. Wen dividing
by 0, mathematics says the result is undefined. The conputer,
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however, defines the result as either INFinity (if the dividend
is positive), -INFinity (if the dividend is negative), or Not-A-
Nunber (if the dividend is also 0).

$ oexit

Script done on Sat Aug 24 12:25:06 2002




